Quiz — Probability Name WDV
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In a bag of marbles, there are 3 red, 4 blue, and 5 green. Find the following:
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The following diagram represents kidsh

Use it to calculate the following.
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5. In a Coordinate Algebra class, 17 students were male and 13 students were female. Out of those
students, 15 of the guys and 11 of the girls passed the EOC. Construct a contingency table with this
information:
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Use the table to find the following probabilities: «
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1. Given the following data, show that events M and N are independent or not independent.

P(M)=.238  P(N)=.562  P(MN)= 134/
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